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1. The admission to the examination is provisional.
In the event of any information furnished by the
candidate found false/incorrect/incomplete at
any stage, the candidature shall be rejected.

2. Darkemthe circlesin therOMRisheet completely
withBlack/Blue ball point pen only. Partial
darkening shall not be evaluated.

g or more circles-completely/
besevaluated.

hanging the darkened circle in any mannar
putting ‘X’ mark/using white fluid/erasing by
rubber / blade etc., shall not be evaluated.

5. This question booklet shall not be opened until
instructed. Write your Roll No. correctly in this
booklet as well as in the OMR answer-sheet.

6. The candidate should check the No. of Printed
Pages, Questions and their Serial No. In case of
any discrepancy found, exchange the defective
one and collect another correct one from the
invigilator within 5 (five) minutes and there-
after no complaint shall be entertained.

7. The examination shall be conducted as per The
Odisha Conduct of Examination Act, 1988.
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§¢] Qqlsl G EaNglig
(CHILD DEVELOPMENT AND PEDAGOGY)

1. 6866 Q8 — AN QRIAE ?
(A) Qéral
(B) 692197
© 9999

(D) QR

2. G648 QI8 791 69€16Q QIFIEMSIRG
AR Qude @ 969 @ldel AR @
dela JRge 8 Qoo ?

(A) 6100 gaa
(B) 66QI6&
(©) 291G goa

(D) Q4919 a

3. 209 dRNInEa @IYiee agiaul
Q9 @QQl Aa §8Iee aA9gsa
96 60Q @8l QUeQIR @Qel
Qo6 ?

(A) 9196 Qldl
(B) 99e s
(©) g 99e 8 adc Qg

(D) ARl JIee @26 @l

Which is an example of intrinsic
motivation ?

(A) Praise

(B) Encouragement

(C) Prize

(D) Aspiration

What type of evaluation should be
done to know if a child is fit for

admission into class VII ?
(A) Formaiive
(B) Diagnostic

(€) Summative

o

What language should the teacher use
while teaching the scheduled tribe
students so as to meet their language

problems ?

(A) Standard language

(B) Book language

(C) Both book and spoken language

(D) Pupils’ spoken language
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4. 6@ G948 966 @lIdy-Gaa 969 ?

(A) QRIPICIR ISE
(B) @19l %
(C) d6gllaq aad

(D) 6¢1pa 9 986

5. 6@Q6 69¢Mg 29IRe d3d aQ
TR 968 ?
(A) U84
(B) dIn6af 91nal
(€) ¢I9d |9k

(D) J6lare

6. dlafie  QouRdea 68063

JR0IR QUagl KIgE 2 ?
(A) d9ag 2de agdn aaIdin

(B) 6glell  AQUIOEQ  @¢l Qe

dae galg
(C) gsral al-aqel {969

(D) 64I¢1 Q9 AAIQ
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Which learning method is not

activity-based ?

(A) Laboratory method
(B) Play-way method
(C) Question-answer method

(D) Basic education method

Which is not related to motor

learning ?

(A) Imitation
(B) Cycling

(C) Typewrtiting

(l Drawing

Why is there dual-class teaching

system in elementary schools ?

(A) Making the teachers more active

(B) Less number of teachers in

proportion to the number of classes

(C) Maintaining discipline

(D) Want of class-rooms

P.T.O.
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“NB QIR Qalge doadl 9
fen Qulde dQ U9efc QaIda
ARS 17 QI 684 GV 6Q dQ
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dHa1e 7

~

(A) dag-aaie
(B) 296§
(C) QIRa 299

(D) Q8A-95ea

(A) 8¢ AeRFafealee adeli
(B) G9l¢l QUaeE0a e

(C) dACgrsa Qalda &g w6e
QUG

(D) QRIS & 1Rl gaLl

dela diede gy @IQIQQl 4alee
6QIRaIN 2

(A) doIIGIE Jand

(B) d8e&q QY9QI9)

(C) ARUIOWINE QURQI

(D) < @gig)

OTET/1/15
“Natural response to a stimulus can
be associated with another stimulus.”
Which learning theory is related to
it 7
(A) Trial and error
(B) Insightful

(C) Instrumental conditioning

(D) Conditioning

Which one of the following is wrong ?

(A) Development always takes place

uniformly.

(B) Developmient 1s individualistic.

(@ Development does not stop at
ation.
evelopment is a lifelong

process.

Mental health of the child is

influenced by which one ?
(A) Parents’ aspiration
(B) Teacher’s behaviour
(C) Peer behaviour

(D) All of these
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10. 94 6 drde Yol  Egd
' QD69

11.

12.

RGN a96
a4ede ?

1901

(A) 299§
(B) 6881409
(C) @4l

(D) ALR-ANIQ

62Q6 EAAGI Falda AQILR ?
(A) 66116 QIaUq Qe 6MEIQl |
(B) @<166118 Aglél @QQ! |

(C) 66118 Qlaueq  aal
06e oadal |

2

(D) 6l6g / @EI9. Q8 QULQIR)
6mEQl |

AQA6QEN S8l @€ ?

(A) 291 66Iga  daidiy Neg
@9 620IRE Q@S
aQaIg €8l 6Qal |

(B) @89 6oI8a deidie Qa9
OR6R Jaa @6 <8l 6QQl |

€) dogwale  Gldoae &4
gl K@l |

(D) 99lg Qodg 2Qee @9 &l

6QQl |

10.

11.
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Whole and part learning concept is

based upon which learning theory ?
(A) Insightful

(B) Field theory

(C) Instrumental

(D) Trial and error

Which one is helpful in developing
creativity ?
(A) Writing a sentence ten times.

(B) Working out ten addition

problems.

(€) Counting =the “alphabets in a

sentence.

(l Writing different uses of a piece
ak'

12.

What is inclusive education ?

(A) To teach all categories of
learners together according to

their needs.

(B) To teach different categories of
learners in different groups.

(C) To make provision of formal
learning for all.

(D) To

teach by integrating all

subjects.
P.T.O.
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13.

14.

15.

6RQ6 d9a-6aha dVQIQ-8E

Qyegl ?

(A) §9e §9d A0 Aede @8
Qelg |

(B) dge d&8d  @ldig eolqs
aag |

(C) d81die 2QR6! daQ6q 96
QLR QUG |

(D) S8 &8¢ Qe Q6a @ldy
@ag |

6006 0I0-08 J0IR-434
d@q dstee Q6g ?

(A) Q801964  darq  &6R
@IQ 68 d@ldinad |

(B) €6g4a @86 @ Q8o
QAR RIS |

(C) 299 @Gl dgl-ele ¢ éﬁ@a
|

QI e Q6P QIR

(D) €I08q 6@60 €& 69/6-69I¢
NRA6Q d@l¢ @A |

668 dgQ @aQ QMR  @Q
60QIQ 271QAl 4Q0IQ @9 ?

(A) Q78T g
(B) 4 Q87 4
(C) 66118 QIRUEQ QAR 6QQ

(D) alee 94

13.

14.

15.
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Which one is a teacher-centred

teaching-learning process ?

(A) Teacher explains with the help
of teaching-learning materials.

(B) Teacher supervises learning
activities.

(C) Teacher helps the learner to
gather experience.

(D) Teacher works as a facilitator of

learning.

Which one is

competency-based teaching-learning ?

not related to

(A) Competencies are  arranged

sertally fromsimple to complex.

(B) Each coinpetency is based on

previous competency.

ng-learning of all
aetenc1es done
simultaneously.

(D) A lesson is divided into some

smaller units.

In what type of questions the
possibility of guessing is the least ?
(A) Yes/No questions

(B) Four-option type

(C) Answering in a single sentence
(D) Completion type
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16.

17.

18.

eols  dage  dalee

6QIIR6R) @ Aol dg
AU ?

(A) 68QI166

(B) 291§ goa

(C) 600 9aa

(D) QUagie

6606 dJUeYER & AR
Q6Q ?

(A) 961 deI8él

(B) 606" 64f

(C) 699 @g

(D) @lE'€lon Gl

68Q6 6616\ 9§ QA 9ae dg
Q6% ?
(A) 999 @I @l @9 |

(B) @79 QJ6QIGGI 6m6t |

(C) 66lIEN  QIGQ @ QUeQI
@qel, gele |
(D) @8 0Q6Q@l 6@6GI6  6uId

oYlel @6 7

16.

17.

18.
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What type of questions are asked at

the last step of teaching in a period ?
(A) Diagnostic

(B) Summative

(C) Formative

(D) Placement

Which one is

observation ?

not a tool of

(A) Achievement test
(B) Rating scale
(C) Checkshist

(D) Anecdotal record

Which one is not a free response

type question ?
(A) Describe the functions of leaf.

(B) Write the uses of water.

(C) Explain how a piece of stick can

be used.

(D) How many gases are released by

a tree during day time ?

P.T.O.
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19.

20.

21.

Jog-daele 9fge  6ew
QdIoIe SRI-916Q19RIAQIA
daige ?

(A) §81010 986

(B) 996 AQKRO!

(©) gauIge
(D) 9 a9g

668Q6 dga  Galgg daide
@2l ?

(A) @9 9G d8ew 2oad

(B) €< 9@ dellitle 2oas

foI0Ie-dad adgsa g1 an
QA6R OIQl ElIe @del AR
f8e @'d atal Q86 ?

(A) U6QUVAIR6R AELIUR @G

(B) QY SPIe&EQIQl 6N
@q6Q

(C) 69léN  6Q6Q  Q6er  d6ar
ORI @G6Q

(D) SRy @f 6069

19.

20.

OTET/1/15

Which factor of the teaching-learning
process is influenced by educational
psychology ?

(A) Teaching method
(B) Learning experience
(C) Evaluation

(D) All of these

Which one
development of the child ?

influences the

(A) Teacher’s behaviour towards the
child

(B) Parent’s behavieur towards the
child

(& Peer influence on the child
a these

21.

‘What should the teacher do to correct
the mistake committed by the child

during teaching-learning process ?
(A) Correct the mistake indirectly.

(B) Correct the mistake through

other students.

(C) Correct the mistake immediately

in the class-room.

(D) Punish the child

Contd.



OTET/I/15
22. 6QI8@ Qg 6eq AL
deidie  QaQy  adrIe  gee

23.

24.

QIR RIS ATl ?
(A) alf lIdugh
(B) g agIfa a0
(C) Q9@ aaIduueh

(D) 269Q1RIQG

%66 10 of d81de 21Iede Qg9
1098 | 69 6@ 69¢lQ SN 2

(A) QRIQE Q8

(D) A%y 98 a
6ea Q@ der ae  dae
Q6% ?

(A) 481 99 @19aUd da4l

(B) 481 N& 9ad d6eae
alayal

(C) 8l 6aee Y& Gldelae
adg

(D) 48l e QGG dGL
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22. At what stage of intellectual
development, does problem solving

ability of the pupil take place ?
(A) Pre-operational

(B) Concrete operational

(C) Formal operational

(D) Sensory motor

23. The mental age of a 10 years old
learner is 10 years. To what class the

learner belongs ?
(A)_Average intelligent
(B) High mtelligent

(C) Very low intelligent

antelligent

24. Which statement is not applicable for

‘education’ ?
(A) Education is a lifelong process.

(B) Education is a behaviour

modification process.

(C) Education is only a formal

process.

(D) Education is a goal-directed
process.

P.T.O.
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25.

26.

27.

676 QRf gAY 9998 ggeV
Q6@ ?

(A) Fgm QIR 299 |

(B) @6 8 08 daslde
*ALRAIER |

(C) 666 Qgeq e -
QBaSY JId 8Qel A9 |

R

(D) ade G4
*ALRNAIER |

AQ9a,

‘Nothing succeeds like success’ —
NGO QR6 ddonaw 94 G99

606 0d @dba ddiedo ?
(A) 946
(B) oIk

(C) QY

(D) eyl

60q6 AL W& QAU
Q69 ?

(A) QU6 @
(B) @gasdisl @8
(C) APy QY

(D) 9@ &t

10

25.

26.

27.

OTET/1/15

Which statement is not applicable to

objective type of questions ?
(A) Correct measurement is possible.

(B) Quick and correct valuation is

possible.

(C) Measuring more than one

learning objective is possible.

(D) More content can be covered.

‘Nothing succeeds like success’, this
statement is based on which law of

learning as propounded by Thorndike ?

(A) Readiness

Effect

(D) Practice

Which is not a sub-law of ‘Law of

Practice’ ?

(A) Law of Use

(B) Law of Disuse
(C) Law of Recency

(D) Law of Set

Contd.
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28. 6006 WLESIRIFT K& AR QAYa 28. Which is the proper method of
aaG ? remedial learning ?
(A) G990 OROIC ZIBAISA! (A) Group discussion by the teacher
(B) 4Q64lcl Q@e §34 (B) Co-operative learning
(C) UYL (C) Practisation
(D) 69 a1y (D) Home task

29. ool 96 60Ulel Qo 29. According to Terman, what is the
QaUla" 6960 intelligence quotient of gifted children ?
(A) 100 Q 120 (A) 100to 120
(B) 120/ 140 By 12010140
(C) 4409 & (€) More than 140
(D) 100 a
30. gIQaslion dgidiy 990l AR 694 30. Which method is not useful for
A8G Qasglen as@‘” 9 identifying slow-learners ?
(A) doIGle dQ AVNERR) (A) Interview with parents
(B) d9aaa adieead (B) Observation by the teacher
(©) @61 douel (C) Achievement testing
(D) Q8 AV (D) Intelligence testing

11 P.T.O.
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QY (662)

31.

32.

33.

die — @R Q6Q G69e 6846
geld agl 96 2

(A) QL6418 GG 2Eal

(B) 6lQ6IE 5669 QAR

() el Uale AV 6REiQIg
Q0|
(D) <Igq omel@ dalm Gl
‘0’ 719IRQ!

6RQ6 9aalde [Rce dQIde

6QImAaIN ?

(A) UR600 2OaAR 00 @Gl |

(B) 66lEN QIVIRQEH. 60n 6l
6meial |

(C)f 6Q6CIEY s0@ " 6aR) aqie@a

EmolQl |

(D) 99606l 6ip, sablal |
e 91010 69960 dId
QIR &N | QI gI6lies 60
4aIQ gauige 2

(A) 60QIg%

(B) Quagle

(C) [olalga

(D) digiga

12

34.

33,

36.

‘6R6I0IT 696009 6¢giia @GoIF
661416]Q69 TRISQEM 607 Q661
QBQEYE alte 699

(A) dasiee  6gea
ARQRINES

606IQlIg

(B) daise ¢geia  cal ora
2leldlist 28R VLR &1&l6R

(C) JmIEe  dNS 6619069
Q98 6969

(D) dagliee 2616 @6QId
G1€6Q

MG | S @Aee JIAIAR 69
696 Q@6 6aldae §qQ 696!

daz

(B) @2Q B d0@
(C) ¢94 8 Qs

(D) <0R 8 Q&R
QouRgy uldel 9eq ¢ 6aQ
QY6 V! AGR @2 ?

(A) @6 @9l

(B) @b il

(C) 6QI5e Qg

(D) A9 @Il

Contd.




OTET/1/15

37.

38.

39.

6666 AIGQIT S/IRINES AL

QU6 Qeadd UGe Qg ?

(A) 216-9I81  AeFa  QeR6l
GoQeaa  ©lgl  GARIQE

(B) d@lgélisa dda 6R1G6Q4
AEQIR QUIRe @Al |

(C) dI0RIAg QUE-664a, Qe
3 990 @Rl |

(D) 64 @7a Qgdal dgaee
gage «del |

edlg® Faland ain 6/t A&
Qasaien ?

(A) Q6 2aug
(B). @62laqea a
(C) QANTYR URQIR

(D) Q6 dOQ

QIR PRIER QI B A6RY 9K
AIQZ6M 686 QAUNTQ BN ?

(A) Q9@
(B) 94690
(©) @9999q

(D) Q§o

13

40.

41.

43.

. R0 Qa2
d
(B)
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666 @leYcea 298 QI ?

(A) ARURGIQ dQ QA9 Ml |

(B) Q916161066 QA4 AYEQER |

(©) 69 2E9gPsR Aol |

(D) Qfle 986a daldlee g
@6m |

‘Aqeia T e d 9eld
RQYAl BAIRQISME IQI -

(A) <oetn Q6 Jtw

(B) @dglolg @ldel an

(C) QIo ARG Gd Q&

@) eI T 6018

Sl
C) Q919

(D) dIGe

6RAQ 6 ge de ?
(A) Ue6sId
(B) 62l
(C) U6

(D) Q6
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44.

45.

46.

47.

Qe ¢Iga Gaqlo 08 &3
(A) dIeQnl

(B) digléa

(©) alagida

(D) QGa

69Q6 ‘doie’ daq arladigels
S0 Q6@ 2
(A) @ge
(B) Q9@
©) 8w
(D) <yg

“ag G6Qlele 1991 Asisq dlo
Qe @96 I
(eleg) Q6EINE Q8 G 2

(A). €IO a

B) g
(©) asisg
(D) 1991

‘AR QAQEE 6aa 2d6a QUeQE
Q9 7 )
(A) QuUead

(B) A8

(©) Qug

(D) Qa6
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50.
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ARRR-FAI6Q AR 69Q)
08 gaes Qge 2
(A) dgey
(B) @igg
©) Q918
(D) Qelg

60Q6 dan Qlay 2

(A) ¢edRINEeY 3096
260N QAYAE Qe
268 6 69 QaQ
RINQI69 6216160RA6M |

(B) 69Q9li6e 999 dnrdsa

6Q7I6R @Q FRgEEEQ Ztm |

() mallvfaim Al Q69
alblaalslalslay PR
dgia QAN 8 AQAAIER

Q £a Q26T |

2 QUYae 616
ariQeey  Gedsa  @aQ
Qde dalg Qledecl G969
QUGNIER A7IRC @Qlen |

glafie gasa 1010 996q 686
A8GE Qasdien g6g ?

(A) &4 96&q aad

(B) @10 986

(©) UIR AU aas

(D) d8daldy a8d
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cQe6s §1aG 63lalg 91

RQ6A UQGT 6810¢ AR
“adlisiee Il ae @da

098 @13-ql6a G6d Qg I
6061 99IQ SR — 861 —

Qs @Q69 @ 661 dol
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d6QIY 666 <l 6AIaY 696 |
Q89Q 69Ml §a9g - @adl

Q8dQ 6léN — Qg §6R 609 |
AQ-A96-a10 9aQ U6

691 Qfsm el dga 716 |
AQ-2RG-719 9691 Q6'R

dgiel el alel 918 Ge'R
21dal QIR Q6 SEe
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@ 66l QAR A - GG EOIER
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@A 69¢ @9 64I6Q URN
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GR LERIES 6QAl Fan e

@QQgel Q2 ARQIR |

51. 909 26reeq Gagfe & Qd
QS |6R 7
(A) 909 zelg] QgIqel 69l
afo)

(B)
©)
(D)

URReYIQEl 6Qal 99
CQErQde 991961 698l a9
2641 98l QI af)
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Qdl Qal QIR - QI 689
Qaliq @él agg ?

(A) Q¢1Q0l6e  déla  QJYaqe
AGR

(B) Q@190I69 RIS {3
UORGE! A9 6Q6IGIR

(C) ©6IR6R ae1q QIR
deele Al

(D) 90186 9 6QINAR

QOIeR arss @fdelq @0 6aQ

qAe'§IgQ 9aRl @Qeq ?

(A)
(B)
(C)
(D)

QRIER @0d8 Gdn 6QIndal
Al9a 90 9a 9gal 6617al
APILER AEUTR AR

g Jonee p (eaiQEE | ui6R

A6 Y19161 Go'Im 6L Q)

&ﬁ@ SIS = N0I6R
Teeln @Rl Qelalag 2
(A)

gdie Gaelq
alagabolloy
Q& §dq

(B)
©
(D) 49 94

680 AdG @3 ?
(A)
(B)
©
(D)

RARAIG
ol
Q<1
nlanyolala)
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AOYRIER RANE FRINEA GRS
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ot 9n G QYevia @86l | Ayl 4
260 AN6E f6QY ARG QX
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56. QRS 96RQ Jd |IQd &’¢ 2
(A) @199UIQlQ JAeAR
(B) @694 dQILE0]
(©) U, Aol G QQIaale
(D) 916 8 ARG
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57. gfdIeq @Iy @¢ 2

(A) 200 964 @G0l

(B) dlauolg @6am agal

(C) 20gla 8 9699 U6 o

6Q%!
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ENGLISH
61. Teaching of English in India as a 64. Chorus reading in teaching a poem is
second language has been very done usually :
important and inevitable since : (A)  after the introduction.
(A) Indian language books are (B) during teaching the lesson.
mostly written in English. (C) at the end of the lesson.
(B) English is a foreign language. (D) before introducing the poem.
(C) English is a link and
international language. 65. | Put ‘v’ mark / ‘x” mark in the box if
(D) India is a multilingual nation. the statement is RIGHT/WRONG.
i) Liquids do not have definite shape.
62. The substitution table in teaching () Liquids do ot have definite shape. | |
English is associated with (ii)Ice is lighter than water. []
stage.
' The €8t itcTiiside the box'is .
(A) presentation
(B) domprehension (A) Recognition type
(C)/ application hing type
(D) " introduction pletion type
(D) Recall type
63. You are a teacher and doing free
composition in class-IV.  Your
66. The aim of teaching English

activity will result in :

(A) making a number of mistakes
by the children.

(B) discouraging children from
writing further.

(C) increasing correction work for
the teacher.

(D) All of these.

37

language is to acquire the knowledge

of
(A) words and phrases
(B) sentences

(C) language skills

(D) grammar

P.T.O.
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67.

68.

69.

Task : Fill in the blanks choosing the

suitable words.

(1) I want a cup of coffee.

(strong/powerful)

(i) Heisa smoker. (heavy/big)

The task in the box tests the learner’s
ability in :

(A) pronunciation

(B) collocation
(C) idiomatic use
(D) spelling

The closing phrase of a formal letter

is :

(A)  Yours Faithfully

(B) * Your’s Faithfully

(C) Yours faithfully

(D) Your’s faithfully

Which is not a sub-skill of speaking ?

(A) Accuracy

(B) Fluency

(C) Naturality

(D) Inefficiency

38

70.

71.

72.

73.

OTET/1/15
He gave me useful book.
(A) an (B) the
(C) some (D) a
We have a holiday Christmas.
(A) in (B) at
(C) for (D) on

Down went the bell with a gurgling sound.

o @ & “)

Which part of the above sentence

functions| aS“thésubject?

(& 2 B) 3
Priya : I come in, Sir ?

Teacher : Yes, Priya, why are you so late ?

(A) Shall

(B) May

(C) Might

(D) Will

Contd.
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74.

75.

76.

77.

Mr. Patelisa______ doctor.

(A) Indian handsome young tall
(B) handsome tall young Indian
(C) handsome young tall Indian

(D) young handsome tall Indian

Which of the following is correctly

punctuated ?

(A) Oh God ! Save me.
(B) Oh God. Save me.
(C) Oh God save me.

(D) Oh God, save me.

She has been living here .
(A) since four years

(B) from four years

(C) since the last four years

(D) for four years

______were absent.
(A) You, he &1
(B) I, he & you
© Youl&he

(D) He,I& you

39

78.

79.

80.

SET:| B

The boy 1is both clever and
handsome. Itisa _____ sentence.
(A) complex
(B) compound
(C) imperative
(D) simple
Mr. Das lives .
(A) upstairs
B) in upstairs
(C) above upstairs
d apstairs
Dividing a sentence into sense
groups while reading is called :
(A) cluster
(B) stroke
(C) intonation
(D) chunking
P.T.O.
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Read the passage carefully and answer the

following (5) five questions from 81 to 85
choosing the correct alternatives given.
chief

education available to Tagore, was a quiet

Among the sources  of
garden, adjoining his family house. Here,
he used to spend much of his time
absorbing the peace and beauty of nature.
It was through this early contact with the
nature, he acquired that serenity of mood
which distinguished him all his life. It was
in this garden too that he came to
understand that principle of harmony was
at work throughout the universe. At the
he formed the habit of

observing and reflecting on things.

same time,

81. Tagore spent much of his time in the

garden/ adjoining his family house

their smell.

(B) loitering and singing.

(C) enjoying natural peace and
beauty.

(D) sleeping and dreaming.

82. By spending most of his time in the
garden Tagore developed the habit of.
(A) meditating everyday
(B) taking life easy
(C) being
thoughts

absorbed in poetic

(D) observing things carefully

(A) plucking flowers and enjoyia

40

83.

84.

85.

da

OTET/1/15

To the great poet, the garden

adjoining his family house was a

(A) convenient playground.

(B) source of pleasure and
entertainment.
(C) beautiful place for writing

poetry.

(D) means of education.

The garden adjoining to the poet’s

family house is described as.
(A) noisy

beautiful

(D) thrilling

The phrase ‘serenity of mood’ in the
passage means ______ mood.
(A) calmand quiet

(B) angry

(C) rivalry

(D) retaliating

Contd.
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Read the passage given below and answer
the questions (86 to 90) that follow
selecting the most appropriate alternative

for each.

Most paper comes from wood. First
trees are cut down and the logs are taken to
the paper mill. There, the logs are washed
and cut into small pieces. These pieces are
then put into ‘pulp digesters’ where they
are broken down by steam and chemicals.
This process releases wood fibre. This is
mixed with dyes to form wood pulp which
is then passed through screens to remove
the hard pieces which have not dissolved.

The wood pulp is fed into a paper-
making machine. A pump sprays a thin
layer of the liquid paper pulp into a moving
wire screen.

As the pulp 1s carried along by the
screen, the water in it slowly drains and t
wood pulp slowly forms into paper. A
this, the wet paper 1s passed through heat
rollers which press and dry it. The dried
paper is rolled into huge bundles and sent

out for various uses.

86. When the logs first arrive at the mill,

(A) they are cut into small pieces
(B) they are put into pulp digesters
(C) they are washed

(D) they are passed through the

screens

41

87.

88.

90.

SET:| B

The dyes are added

(A)

(B)
©)

(D)

after the pulp passes through
the screen.

after the fibre is released.

after cutting the wood into
pieces.

after the pulp is fed into a
paper-making machine.

A pump

(A)

(B)

©)
(D)

spreads the paper pulp on the
wire screen.

removes the hard pieces of
wood.

flattens the paper.

adds dyes to the wood pulp.

ed rollers are used ..
ndle the paper
to cut the paper
to dry the paper
to dye the paper

The passage describes the process of

(A)
(B)
©)

(D)

making wood pulp
chopping trees into logs

releasing wood fibres from

paper pulp
making paper from wood

P.T.O.
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(MATHEMATICS)
91. 660 MR QU QI¥e  10% 91. On what principal at the rate of 10%
Q069 2 odq 0608 v 2sasl per annum, the difference between
~ - the compound interests for 3 years
3 @dq 9898 gu % 121.00 2de
and 2 years is ¥ 121.00 ?
6Q@ ?
(A) 1,200
(A) 1,200 B) 1,500
B) 1,500 ©) % 2.000
(C) 2,000
(D) % 1,000 (D) % 1,000
92. QG 966Q A PQR @ ZQPR ¢ PL 92. In the given diagram, PL bisects

aAnQslg @6 e° L §9 QR Q469
dede | 98 mzQ = 70° 9g°

mZLPR = 28° @\, 606Q@ mZPLQ

@60 2

ZQPR of A PQR and L lies on QR.
If mzZQ = 70° and mZLPR = 28°,

then what issmzPLQx?

P
P da bus
/N . T
3 R (A)

0 56°
(A) 56° (B) 68°
(B) 68° (C) 82°
(C) 82°

(D) 52° (D) 52

g AR gie / SPACE FOR ROUGH WORK
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94.

Qa 5669, C@aa PQ W& Qud |
C, C, 8 C; @@ G6lda 689
delesn K, L 8 M ¥6° Qg @9
04 PQ QU6Q dege IC,C,B8C,
Qa ode 9t delassl 18w, 41 G

6n 64.9. 6Q6@, C; Qaa QY
6060 69.71. 2

(A Tn (B) omn

(©) 5w (D) 8m
ABCD /@I9Igae 0968, @4 AC

3@ BD dagQq ‘O’ @96 69
@qQ |90 E, F, G ¥e H g2ia

AO, DO, CO \9g° BO Q ¢ilieg
QdQq, 666@ (EF + FG + GH + HE)
g(AD +DC + CB + BA) o dQdlo
686G 6QQ ?

9.

In the given diagram, PQ is a
diameter of the circle C. K, L and M
are the centres of the circles C,;, C,

and C; respectively and the said

points are situated on PQ. If the
circumferences of the circles C, C1

and C, are 18w, 4m and 67 cm

respectively, then what is the
circumference of the circle C; in cm ?
(A) Tn (B) 6n
(©) 5m (D). 8%

ABCD 1is a parallelogram and the

dideonals AC and BD intersect at
. F, G and H are the mid-

n AO, DO, CO ‘and BO
respectively, then what is the ratio of
(EF + FG + GH + HE) and (AD +
DC+ CB +BA) ?

© 4:5 D) 1:2 © 4:5 D) 1:2
g oA gle / SPACE FOR ROUGH WORK
43 P.T.O.
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9s.

96.

97.

G@6 ABC 66 AM ¢R45lIQ 94GQ

R, BR 8 AC 9949 ‘S’ 8969
690 @QQ, 6669 Qg 69Q6 AS
age agle ?

(A) %AC (B) iAC
© 2AC ) Lac

AABC ~ ADEF, AB = 9.1 64.9.
| 9& ADEF @

24
AABC Q QQQiglh6960 62.61. 2

@° DE = 6.5 62.91.

Al 25 64Q.9. 6069

(A) 28
(©) 40
d

Q6 6969 6J0TRA a@wa
Q9 698 Qe 9F Qda cddy
aQale  dg  ddle @Y, 606Q
alalletey Q9% Qae

(B) 42
(D) \ 35

D D)
L) 29O

Lot
2QQI6 6260 ?
(A) 1:2

© 1:1

B) 4:3
D) 2:1

OTET/1/15

95. In triangle ABC, AM is the median

96.

and R is the mid-point of AM, BR

and AC intersect each other at S.

Which of the following is equal to AS ?

(A) %AC (B) iAC
© 2AC ) Lac

AABC ~ ADEF, AB = 9.1 cm and
DE = 6.5 cm, if the perimeter of
ADEF = 25 cm, what is the perimeter

of AABC incm ?
(A) 128 (B) 42

(©) 40

dt

bases, then what is the ratio of their

D) 35

i0 of the areas of two

equal to the ratio of their

corresponding heights ?
A 1:2 (B) 4:3

G 1:1 D) 2:1

g AR gie / SPACE FOR ROUGH WORK
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98.

99.

0acgea 2 62.9. @1d QIQ @iy
e Q6ERe Q069 d6eUR Q1QQ
Qg 60@ QIEQIE aEQa 2&o
QNG | W N& QIR el
Qdg gneN 9F 618 G WQIe
saslme QA odldIRg |
6QEIEE 6860 6T 6866 Q6
6.91. ?

(A) 4-2m
C) m-4

B) 4-7
(D) 2n—4

diifie QOUIRLEa 8§c aeldal

Q00 RIQ& ?

(A) (66 B/ Gl
aa9e

(B) 6ldioq Gaq @dl 29

(C) 6de #®Ie &Rl dIoYasrisa
gol 2ey Gud 9f 699 Q19

(D) 6GR0Q @IeRsa  61deQ

QPR QUAQIR

. ah

98.

99.

(
he
ematics.
ematics has its

SET:| B

In the given figure, each side of the
square is 2 cm long. Four semicircles
are drawn inside the square taking
each of the sides as diameter. Thus a
flower of four petals is formed which
is shown by shading. What is the

area of the shaded region in sq.cm ?

(A) 4-2m B) 4-m

C n-4 (D) 2n-4

Why should mathematics be taught
in primary schools ?

ngher educatlon is impossible
knowledge of

own

language.
(C) Other subjects in the
curriculum cannot be
understood without

mathematical knowledge.

(D) Too much use of mathematics
in daily life.

g AR gle / SPACE FOR ROUGH WORK
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100. gladie QouRg dloiesise el
606 Q84 29 6doq AQ-aae
ag 2
(A) dRIQE RIe
(B) 98694l duide
(C) dIRI@e Qo
(D) 9 a9g

101. (a + b)? = 6860 ? 4G dge 6&e
I 69Q  QsQeN QU9
ARIRES ?

(A) HIo
(B) 6@l
(C) <646l
(D) 9 a9g

102. G681 &g ol @n @9
9006 96 @6 | 6266e6)
sal6g@a g @8 | 9egaa

QEAIE BRI Y deues o
ANG69 QARG 6Q6M | 64 o

Y00 AR 680 dBG Uenle
R6m 2

(A) <6994l

(B) 2i6QIQ

(C) 26

(D) G644

100.

101.

102

OTET/1/15
With what subject in the primary
school curriculum has mathematics
correlation ?
(A) General Science
(B) Environmental Studies
(C) Social Studies
(D) All of these

(a + b)?2 = How much ?

This question is based on which
objective of teaching mathematics ?
(A) Knowledge

(B) Understanding

(C) Application

(D) All of these

Anteacher eonstructed four different

quadrilaterais. Measured their angles

arrived at the conclusion relating
tion between measures of

r s of a quadrilateral. What

method of teaching mathematics did

he follow ?

(A) Synthesis

(B) Induction

(C) Deduction

(D) Analysis

g AR gie / SPACE FOR ROUGH WORK
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103. Ql2fie 9a69 QYA 9eIngl AR’
60Q 986 JeAge @qlaN ?

(A) 26AIQ B A6AQ
(B) Q6484 G aIQIQ
(C) 2ealQ 8 6

(D) Q6984 B 6LV

104. 68Q)6 61&6 A0 9g@ca Qe ?
(A) U gglaa
(B) <84 dab
(©) @Ydica 983 dier

(D) ANFE Ao

60@ 986 dtie JIg-6G0Q 2o

105. G960 Q2RI 6&e @sa@@a

(A) @6
(B) 2I6QIQ-AREIQ
©) &8l

(D) @649

SET:| B

103. What method is adopted for teaching

Geometry at the primary stage ?
(A) Induction and Deduction
(B) Analysis and Induction
(C) Induction and Synthesis

(D) Analysis and Synthesis

104. What is not there in mathematics text

book ?

(A) Practice problems

(B) Methods of learning

(C) Geometrical figures and graphs

(D) FWarked duttproblems

1 the following, methods of
athematics is more child
centred ?

(A) Synthesis

(B) Inductive-deductive

(C) Play way

(D) Analysis

g AR gle / SPACE FOR ROUGH WORK

P.T.O.
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106.

107.

108.

30 Q QEQEl §1éa elE
Q@ delq 9¢ ?

(A) Q99 gRe
(B) 996 gae
(©) @geaq

(D) 9% Q09 9IPe

Qold  69éMa  6colg &
Jagea Qe  aa
QIR RIRd fldelR @
dongé eqlde ?

(A) Qo1
(B) \a&

(C) 680106
(D) 609 A&

@66 018, gl 6 GOR Q969
Gufice @S G i A
@QdIgeq | 6d 6ée  dad
6a6 AU QI @Q9q ?

(A) ®IQIPG

(B) 6QI

© agge

(D) 9 a9

106.

107.

OTET/1/15
The counting number preceeding 30 is

____. What type of question is it ?
(A) Completion type

(B) Recognition type

(C) Multiple choice

(D) Short answer type

A child of class II regularly makes
mistake in multiplication. To know
its cause, what type of test is to be

done ?

(A) Achievement
(B) Unit
(C).__Diagnostic

(@) Formafive

upil is able to draw geometrical
I nd graphs neatly and
at-objective of teaching
mathematics has he achieved ?
(A) Knowledge
(B) Understanding

(C) Psycho-motor
(D) All of these

g AR gie / SPACE FOR ROUGH WORK

Contd.
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109. 1 X 2 X 3 Xuuuunn.... X 29 x 30 Q

QTR 6418 QlElER 6@6516 0

(g9) 28 7
(A) 5 B) 9
© 10 D) 7

110. Q@6 afe g T Q6la

Q66 T, Q7R 686 AEUIQIN

Q! alQy ?
(A) 6 (B) 7
(C) 8 (D) 3

2 ~
111. 5 o 6QI6IAa GoRlen B g@@ga

QRIS ClETR 665 ?

@A) -1 B) 0

< =2 D) 2

109.

110.

SET:| B

What is the number of 0’s (zeroes)

that occur at the last part of the

productof 1 X2 X 3 X.......... X 29 X
307

(A) 5 B) 9

© 10 D) 7

By which of the following numbers
the difference between the squares of
the two consecutive odd numbers is

always divisible ?
(A) 6 B) 7

© 8 (D)3

dae product of the additive

inverse and multiplicative inverse of

2
g?
A -1 B) 0
< =2 D) 2

g AR gle / SPACE FOR ROUGH WORK

P.T.O.
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112. 10 @F 966 €9QQ @44 Ueq

9dda Q@ed ml | €6 10 @F
d6Q 9909 949 40 @F 699,

6060  dede  Qeslll  @qd
660 7

(A) 10 (B) 30

©) 15 (D) 20

113. 98 x(x+y+2) =26, y(x+y+2)=19
NQ°z(x +y +2) = 124 @, 6069 xQ
Ao 6866 6Q9 ?

A 4 (B) 3

<G 2 D) 5

114. 7" = K 68669, ‘K’ @it G9g 6@
Al 6Q6A, ‘m & glalge a6l

6Q9 ?
(A) 839 (B) 1983
(C) 2401 (D) 543

112.

113.

OTET/1/15

10 years ago the age of Sachin was
twice the age of Ajaya. If 10 years
hence, Sachin will be 40 years old,

then what is the present age of Ajaya ?
(A) 10 B) 30

©) 15 (D) 20

fx(x+y+2)=26,yx+y+2z)=19
and z(x + y + z) = 124, then what is

the value of x ?
(A) " 4 (B) 3

€2

ﬁalue of ‘K"in 7" =K, ‘n’

will be a Natural number ?

D)5

(A) 839 (B) 1983

(C) 2401 (D) 543

g AR gie / SPACE FOR ROUGH WORK

Contd.
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1
115. a2-3a+1=06Q6M, a> + 5 Q 79
a

E@6G ?
(A) 18 B) 21
(C) 24 D) 15

116 1 L QA Ye 6@6% ?
) 1+an‘m+1+am‘n i
(A) 15 (B) 2
©) 25 D) 1

117. 464 6QI@Ia1 66l @%@ 2

Iad QD69 30% QIR QY 6MEY

8 10% GQIF 6@ @96 éa

@08 | 666@ 64 Goagl 6R6E

Ale dlRIg |

1 1
(A) 125 % (B) 155 %
© 17% (D) 10%

SET : | B

115. If a2 — 3a + 1 = 0, then what is the
1
value of a3 + 27
(A) 18 B) 21
(C) 24 (D) 15
. 1
116. What is the value of L+an-m
1,
I+am~"
(A) 15 B) 2
© 25 (D) 1
117. A shopkeeper marks on the article

beught by him at 30% above the cost
daallows a discount of 10%
il ng it."What percentage of

profit he gets ?

1
125 %

) B) 155%

© 17% D) 10%

g AR gle / SPACE FOR ROUGH WORK

51 P.T.O.
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118. (x — 3) G4 6Aaw QA 2x + 1)

006a @aldindal @lIdia dsE
B 2x+ 1) @4 6AaE QA (x + 4)
0069 @aldIRdel @i A8
agdie 3 1 10 6Q6@, x @ 919

6@66 ?
(A) 6 B) 9
© 12 (D) 3

119. 1728 @ dd@ G 289 9 Qelida

QEINAA UQe 6966 ?

(A) -5 (B) 29

<G -29 (D) 5

120. 6615/ GG €1g)l 7. 6Q616Q,
y QElieQ z &.
F6Q | NediR

oRlNQ 6006 0/ Q69 ?

a6 x
a.
Q

(A) xez(yda)
B) y<z(xg)
© x“y(ZQQ)

D) xo (ZQ]Q)

Q.
Q901 Aoa
REie eaeg

OTET/1/15

118. If the work done by (x — 3) men in

(2x + 1) days and the work done by
(2x + 1) men in (x + 4) days are in

the ratio 3 : 10, then what is the value

of x ?
(A) 6 B) 9
<O 12 D) 3

119. What is the difference between the

cube root of 1728 and negative

square root of 289 ?
(A) -5 B) 29

© -29 (D) 5

vehicle, moving with a speed of
covers. z-km iny hours.
he following is not correct

f'the statement ?
(A) x o<z (yis constant)
(B) yo<z(xis constant)

(C) x o<y (zis constant)

1
(D) xe ; (z is constant)

g AR gie / SPACE FOR ROUGH WORK

Contd.
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(ENVIRONMENTAL SCIENCE)

121.

122.

06R G6RIG af GuYIRg
() 9R6aY, ATy 60R 6106 |

(i) <A6RE, Qag 666a \°
ANIFE QQICIR 6Fg 697
610G |

(iii)) 9969¢, Qad ANGe \e°
JRGe QUAIR 969 697
606 |

QAEaIq Py :

(A) (i) 0@ \@° (i) G (i) @A

(B) (iii) 0@ ¥@° (1) G (i) A

© (), B (i) QR

(D) (i) 08 e (i) @ (i) @M

giafie Qaingeeata Qouigisla
oulen dagla dapQel @9-a9
AIGI6R AARTEC 6QIRAN | QIR
alge Qgleg Q69lq g 68@6
A6QIas ARG 266’ 2

(A) @69l Qalg

(B) 696" 69

© dg Qg

(D) 69@-A%Y

53

121. Three statements are given below :
(1) Ecosystems constitute the

environment.

(i) Both biological and social
elements constitute the

environment.

(ii1)) Both  social and natural
elements constitute the
environment.

Out of the above :

(A) (i) is correct and (i) and (iii)
are wrong.

(B) (i) is correct and (i) and (ii) are
wrong.

@ (1)) ({1 and (iii)yare wrong.

(D) (1) is correct and (ii) and (iii)

are wrong.

t imary schools cleanliness
among children is observed in
different degrees. Which one of the
following tools is most suitable to

measure it ?
(A) Case-study
(B) Rating scale

(C©) Questionnaire
(D) Check-list

P.T.O.
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123. 6606 ¢l Qaagae d¢ 9

Tdae 969 ?

(A) Qa9 6Rfal 8 JRUeRAlR
QAL ARTHS Q4 |

(B) Aol e qrie Sqrial
Qe @feNd |

© gy  QUg-3gel Q@
Q2N |

(D) 999e 996 @del A6UBIQS

Qe G 4R |

124. 1014 dIOYa¢l 900%  RIIQER

gl 98 diédia 691660
aoiee FEI9 QULSR 64Q0E

299q A9dR g ?

(A)

(B) a
©
(D)

Q66llm
P51
ARG PRI

AR R

125. 66Q6 Qleq qrIeel EIvq

6618 Qg ?
(A) dRQ AU UBLIRG
(B)
©

(D)

2AQELle! AEDIRE
261y, G99

MR BN

54

OTET/1/15
123. Which is not associated with the

Long Answer Type Questions ?

(A) More time is required to write

the answer and for its
assessment.

(B) The examinee expresses his
independent thinking.

(C) There is no subjectivity in
assessment.

(D) Question preparation is

relatively easy and simple.

124. Which is not included in Social
Science at the Upper Primary classes
ot our statesaccerding, to the National

Curriculum Framework, 2005 ?

(4 Geography

(C) Political Science

ry

(D) Environmental Science

125. Which was the last phase of the

Indian Freedom Struggle ?

(A) Civil Disobedience Movement
(B) Non-Cooperation Movement
(C) August Revolution

(D) Champaran Movement

Contd.
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126.

127.

128.

JRIGOR 6860 6109 @Qds6m ?
(A) Gl 6ol
(B) dQQaR6IgN 66lIg]
(©) 2909 @6l 66

(D) Q6-F1G14eIRINI6R
AIMeIE @4 FQIar Qail dele

aadem ?
(A) 266 4999
(B) Q91eQlel 0l§e)
©) @Rl A8de ale

(D) QIPIQueIST

2dan rdesa 6 6Qal dielg

AR AQAG Qe ?
(A) QUG
(B) Q@a@
(©) Qagad

(D) QI9ge
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Who did form the Swaraj Party ?

(A) Khilafathists

(B) Pro-Changers

(C) No-Changers

(D) Militant Nationalists

Who did confer the title ‘Mahatma’

on Gandhiji ?

(A) British Government

(B) Rabindranath Tagore

(C) Lala Lajpat Rai

d anier Gandhi

128.

Whose prior permission is necessary
before introduction of the Money Bill

in the Parliament ?
(A) Prime Minister
(B) President

(C) Vice-President

(D) Speaker

P.T.O.
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129. 56 QIIa QRG99 896l 684

130.

131.

UIRL 998 ?
(A) Q9 QuLRg
(B) @Ql 9@ 6I¢
(C) 99-99 6@l

(D) Q99 AUYRY

600 Q01 QAGYRl QR 084
Qe JIRed om @ldea Geq
6QIRAG ?

(A) Q90|

(B) 6610108

©) 64

(D)/ 91841 a

ENes 669 @I AR GRIQ 6l
Quauia  6oqlm  sadl AU
6QIREIN ?

(A) QO

(B) Q71Q0Iq Qa6

(©) QAIRYOIQ QO

(D) 2rS
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129. Which Court has the power to review
its own judgement ?

(A) High Court
(B) District Judge Court
(C) Sub-Judge Court

(D) Supreme Court

130. By which river valley is the South
Indian Plateau bifurcated into two

segments ?
(A) The Narmada
@B) “The Goda¥ati

(C) The Son

d aMahanadi

131. Which factor is mainly responsible
for higher range of temperature at

Delhi than that of Chennai ?

(A) Altitude

(B) Distance from the Sea

(C) Distance from the Himalayas

(D) Latitude

Contd.
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132. Qfale QYeal&q -

IQIRERYR : 64 : : FISFBAIR :

(A) KGR
(B) 6@I0
(©) dldlign

(D) 69%FRY

133.
Qe ?
(A) Qlelga digla)
(B) Qglgeld A6
(C) Qa9 169199

(D). 66189 QloQ

134. 60Q6 W@ ddeql T 96§ ?
(A) 918l
(B) &ql

(C) 681¢

(D) g

QM QG169 686 Q0109 64IGQ
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132. On the basis of rainfall —

Mahabaleshwar : Pune : : Mangalore : _____

(A) Karwar
(B) Kochi
(C) Panaji

(D) Bengaluru

133. Which river valley project is on the

river Chambal ?

(A) Nagarjun Sagar
(BjJ. Rana Pratap'Sagar
( Sardar Sarovar

ind Sagar

134. Which one is not a cash crop ?

(A) Maize

(B) Cotton

(C) Jute

(D) Sugarcane

P.T.O.
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135. Q69)q, 6@@G 66/96q 0a @l6e

QdIgin AR 1§ ?

A) @6l

(B) 29g6

(©) 9IQI6Q¢ gFaa QT

(D) 5297-98

[eN

136. 696 9aIo 9¢ 996 @dQl, et
@ arq dlsas @g FaUdR Qs
Qen 8 299 6QIRAIN ?
(A) 9090 Jdaa
(B) 2GR @o9 Jna
(C) /91 Qa9 96

(D) (&R 7na

137. 696N §Q6a V' QUeYRl 9969

QIR AR Qgase 689 d8GE

(B) AR

() 6Q6lI58 9eda

(D) 96 9oda

[{)]

58

OTET/1/15
135. Which of the following cannot be

properly shown on a globe ?
(A) Direction

(B) Location

(C) Shape of the continents

(D) Small land forms

136. Which of the following types of
questions is difficult and time taking
to prepare but its evaluation is quick,

correct and easy ?
@A) Shorkanswer type

(B)  Very short answer type
answer type
iple.choice type
137. Which of the following is the best

method of teaching ‘V’ shaped valley

in the classroom ?

(A) Displaying model

(B) Discussion

(C) Displaying graphical diagrams

(D) Displaying picture

Contd.



OTET/V/15
138. 60Q 64IgI6 4a9se ?
(A) QIR -uUgaIQ
(B) 621980 - ggala

(C) 2f-6g649

(D) @2 -69e9lQ

139. 68Q)6 660 Eal 96g ?
(A) dQeleoldl

(B) 66199

(©) UIGIR

(D) @6

140. 60Q)6 AAQAR dAIQ Q6g ?
(A) GRoA G

(B). 2iRsl 98

(C) YRR §9Q6Y 6QQ

(D) 9169 QO Qg

141. 6666 6IQIa AdgENaQRl o

GI&dIea ?
A g
(B) dlg
(C) g

(D) qgmg.?g
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Which is the unrelated pair ?
(A) Dal - Minerals

(B) Soyabean — Proteins
(C) Potato — Carbohydrates

(D) Ghee — Fats

Which is not bio-waste ?
(A) Vegetable peels
(B) Cow-dung

(C) Slag

(D) Paper

Whatis notthecffeet of acid rain ?

Destruction of eggs of aquatic

(
sinals
al bloom

141.

(C) Danger to buildings

(D) Loss of soil fertility

Which one can taste with its entire

body ?

(A) Housefly
(B) Fish

(C) Fruitfly
(D) Honeybee

P.T.O.
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142.

143.

144.

09909 9% Oade g9id :

Cn *

(i) Q80 Q6LeAQIal aMAeIY

QYIgRe AYTe Q69 |
(i) g4l 9@ eEee dald |
(i) 2dge  Q&eeq
e @ |

agqlal

(A) (i) 8 (iii) O) @%(i) ol
(B)

©)

(i) 8 (iii) 09 @%(ii) ol
(), (i) G (iii) QR
(D) () G (i) O] &9, (i) 9

Q6ee'd : QelAQ-D: i qel: .
¥Ql 690 dalae d¢ a6 ?

(A) A8¢ Qa9 96
(B). 28i@ diKe 9aa
(C) 240 7R

(D) @gﬁ@o

60a G010 ddin daIdisaae
Q69 ?

(A) Qo4
(B) AU6QI4
©

(D)

60
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Read the statements and indicate the
correct one :

(1) Plants release water vapour by
transpiration to atmosphere.

(i)
(iii)

Resin is a plant product.

Non-flowering plants propagate

by seeds.
(A) (i1) and (iii) are correct but (i)

is wrong.
(B)

(1) and (iii) are correct but (ii) is
wrong.

(C) (1), (i1) and (iii) are wrong.

(D) (i) and (i1) are correct but (iii)

is wrong.

Rickets : Vitamin-D : : Scurvy :

What'type 6f qacstion is not it ?
Fixed response type

ogy type

tive type

(D) Objective type

Which teaching method is not child

centred ?

(A) Experimentation
(B) Observation

(C) Project

(D) Demonstration

Contd.
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145.

146.

147.

219 QGYeR 6QQ 694819 6@

6elén  adiq Q®e ¢ aliae

QRee N@  d9Qe  dloyeq,

AR GFHIQ Qlee Q8 ARG ?

(A) 968 8 a8l

®) Q914 § 994

(C) ©019 q g9l

o

(D) §o14 6 9¢d

6ea a0 dJeela  99ag
diaca 68 8 Qo 2ed Qe

6QIRaIN ?
(A) 06290 228 A4 21
(B)
©)

(D)

64066919 23 6 Al 21

@Q 21 6 662918 22

I kg 9@9QQdly V& uULeARIQd
Qg Qen @f 9@ 30° ERIG69
ARG 2GR 50 cm  6ld6A

AMOE |IY 6060 gR 699 ?

(g = 10 m/s?)

5
A) 5 (B) @
© 25 (D) 53

g9 21 8 6996698 23 a
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From which class to which class in
our State are Science and Social
Science integrated as Environmental

Science in the curriculum ?

(A) Class -1V & Class -V
(B) Class —II to Class — 1V
(C) Class —1III to Class -V

(D) Class —1III & Class — 1V

On which days the durations of the
day and the night are equal at all
places on the earth ?

(A) 22 December & 21 March
(B) 23 September & 21 March

21 June & 22 December

(€
ame & 23 September

147.

How much joule of work shall be
done by a rectangular object of mass
1 kg when it slides down 50 cm on
an inclined plane making an angle of

30° with the horizontal ground ?

(g = 10 m/s?)

5
A) 5 (B) @
© 25 D) 5\3

P.T.O.
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148. Q64 QY& ‘A’ 0l QIQIA faq 0«
Qlgl Gelsq QI Amel QIS 5 km
6G @Q ‘B’ 0lsQ €Q8sm | 640IQ
0] Qaa olQle Gesq el
AQUNG dRe QIgiEe 12 km 616
@Q ‘C’ gecq a8t | ‘A’ 019
‘C ddig Glera QgITe 686G ?
(B) 13km
(D) S5km

(A)
©)

12 km
17 km

AR
60RQ 69 6mI

149. QIR QU9QI9
QIR QU6
QuIaIRaN ?

(A) Sn
(C) Pb

(B) Zn
(D) Al

150. g/ doIfle anole  @°

(@)

AMI& ol 26e' |

NEG ke qeale ﬂa

Qoller @l 2o’ |

(ii)
(i) 98 9QIIQ 9RAQ QIO Ie°
CARAR QG IRl A6E |
QARG FIIG) :

(A) (i) 0, (i) G (iii) 9A

(B) (iii) O®, (i) 8 (ii) QA

©) (1), (i) B (i11) Ym

(D) (i) 0K, (i) 8 (iii) QR
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148. A person started from ‘A’ and covered
a distance of 5 km on a straight road
exactly on his left and reached ‘B’.
From there he moved a distance of
12 km on another straight road exactly
on his right and reached ‘C’. What is

his displacement from ‘A’ to ‘C’ ?

(A) 12 km (B) 13 km
(C) 17 km (D) S5km
149. TIron sheets used for making roofs are
coated with which one ?
(A) Sn (B) Zn
(C) Pb (D) Al
150., (1" 'The “melting “point and the

liquefaction point of a

substance are the same.

boiling point and the
ing point of a substance

are the same.

(i11)) The product of melting and that

of liquefaction are the same.
Out of the above :
(A) (i) is correct; (i) & (iii) are
wrong.
(B) (i) is correct; (i) & (ii) are

wrong.

©)

(D)

(1), (i1) & (ii1) are wrong.

(1) is correct; (ii) & (iii) are

wrong.
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